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QUESTION 1

High availability at the transport network layer is provided through the combination of what three technologies? (Choose
three.)

A. Alternate Route

B. Loop-Free Alternate Fast Reroute

C.BGP

D. HSRP

E. BFD

F. BGP Core and Edge Fast Reroute and Edge protection

Correct Answer: ABF

QUESTION 2

What does the neighbor send label command enable when issued on BGP routers?
A. Enables the routers to add IPv6 labels to outgoing BGP updates

B. Enables an EBGP multihop peer to propagate the next hop unchanged

C. Enables the routers to add MPLS labels to outgoing BGP updates

D. Allows peering between loopbacks

Correct Answer: C

QUESTION 3

How does traditional mobile networks scale?
A. non-exponentially

B. exponentially

C. linearly

D. nonlinearly

Correct Answer: C

QUESTION 4
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Which technology is a mechanism that emulates point-to-point connection over a packet switched network?
A.LFA FRR

B. SyncE

C. PWE3

D. TDM

Correct Answer: C

QUESTION 5

What command is used to insert the core node area border router into the data path?
A. update-source loopbackO

B. set path-selection backup 1 install

C. next-hop-self

D. insert-data-path

Correct Answer: C
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